
This           is a function           is not a function 

because_____________________________ 

____________________________________

____________________________________. 

This           is a function           is not a function 

because_____________________________ 

____________________________________

____________________________________. 

This           is a function           is not a function 

because_____________________________ 

____________________________________

____________________________________. 

This           is a function           is not a function 

because_____________________________ 

____________________________________

____________________________________. 

This           is a function           is not a function 

because_____________________________ 

____________________________________

____________________________________. 

This           is a function           is not a function 

because_____________________________ 

____________________________________

____________________________________. 


